JL_

Finding Factors

Name:

Deter mine which letter best answer s each question.

1) Which choiceis not afactor

of 72?

A.

B.
C.
D

4) 'Which choiceis not afactor

18
12
17
72

of 24?

A.

B.
C.
D

7) Which choiceisafactor of

70?

Cow>»

10) Which choiceis afactor of

2
3
8
10

20
7
19
9

2) Which choiceis not afactor

of 87?

A.
B.
C.
D.

5) Which choiceis not afactor

87
3

15
29

of 90?

A.

B.
C.
D

8) Which choiceisafactor of

227
A.
B.
C.
D.

11) Which choiceis afactor of

6

17
90
18

11

4

16
6

of 637
A. 7
B. 21
C. 16
D. 3

Which choiceis not afactor

of 607
A. 5
B. 8
C. 15
D. 12

Which choiceis afactor of

1472

A. 14
B. 15
C. 20
D. 8

3) Which choiceis not afactor

12) Which choiceis afactor of

Answers

10.
11.

12.

38? 967? 46?
A. 6 A. 10 A. 9
B. 12 B. 11 B. 10
C. 10 C. 12 C. 2
D. 38 D. 19 D. 3
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il

Finding Factors

Name:

Answer Key

Deter mine which letter best answer s each question.

1) Which choiceis not afactor

of 72?

A.

B.
C.
D

4) 'Which choiceis not afactor

18
12
17
72

of 24?

A.

B.
C.
D

7) Which choiceisafactor of

70?

Cow>»

10) Which choiceis afactor of

2
3
8
10

20
7
19
9

2) Which choiceis not afactor

of 87?

A.
B.
C.
D.

5) Which choiceis not afactor

87
3

15
29

of 90?

A.

B.
C.
D

8) Which choiceisafactor of

227
A.
B.
C.
D.

11) Which choiceis afactor of

6

17
90
18

11

4

16
6

of 637
A. 7
B. 21
C. 16
D. 3

Which choiceis not afactor

of 607
A. 5
B. 8
C. 15
D. 12

1472

A. 14
B. 15
C. 20
D. 8

3) Which choiceis not afactor

9) Which choiceisafactor of

12) Which choiceis afactor of

Answers

SN
o oy, 09) O O @

10.

11.

O O (O (> |»

12.

38? 967? 46?
A. 6 A. 10 A. 9
B. 12 B. 11 B. 10
C. 10 C. 12 C. 2
D. 38 D. 19 D. 3
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JL_

Finding Factors

Name:

Deter mine which letter best answer s each question.

1) Which choiceis not afactor

of 91?

A.

B.
C.
D

4) 'Which choiceis not afactor

14
7

13
91

of 48?

A.

B.
C.
D

7) Which choiceisafactor of

767

Cow>»

10) Which choiceis afactor of

2
6
10
24

19
15
16
13

2) Which choiceis not afactor

of 77?

A.
B.
C.
D.

5) Which choiceis not afactor

14
11
7

77

of 88?

A.

B.
C.
D

8) Which choiceisafactor of

267?

o0 ®»

11) Which choiceis afactor of

44

8
4
3

of 15?
A. 5
B. 12
C. 3
D. 15

Which choiceis not afactor

of 547
A. 10
2
18
9

OO

Which choiceis afactor of

367

oo >
|_\
w

3) Which choiceis not afactor

12) Which choiceis afactor of

Answers

10.
11.

12.

407 35? 30?7
A. 3 A. 35 A 9
B. 13 B. 18 B. 13
C. 4 C. 15 C. 12
D. 15 D. 17 D. 5
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il

Finding Factors

Name:

Answer Key

Deter mine which letter best answer s each question.

1) Which choiceis not afactor

of 91?

A.

B.
C.
D

4) 'Which choiceis not afactor

14
7

13
91

of 48?

A.

B.
C.
D

7) Which choiceisafactor of

767

Cow>»

10) Which choiceis afactor of

2
6
10
24

19
15
16
13

2) Which choiceis not afactor

of 77?

A.
B.
C.
D.

5) Which choiceis not afactor

14
11
7

77

of 88?

A.

B.
C.
D

8) Which choiceisafactor of

267?

OO0 w»

11) Which choiceis afactor of

44

8
4
3

of 15?
A. 5
B. 12
C. 3
D. 15

Which choiceis not afactor

of 547
A. 10
2
18
9

OO

Which choiceis afactor of

367

oo >
|_\
w

3) Which choiceis not afactor

12) Which choiceis afactor of

Answers

1A

10.

11.

o |» |0 |O (O (» |» |O O |W |»

12.

40? 35? 30?
A. 3 A. 35 A. 9
B. 13 B. 18 B. 13
C. 4 C. 15 C. 12
D. 15 D. 17 D. 5
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JL_

Finding Factors

Name:

Deter mine which letter best answer s each question.

1) Which choiceis not afactor

of 4272

A.

B.
C.
D

4) 'Which choiceis not afactor

6
8
21
42

of 93?

A.

B.
C.
D

7) Which choiceisafactor of

367

Cow>»

10) Which choiceis afactor of

3

31
93
16

17
18
20
14

2) Which choiceis not afactor

of 48?7

A.
B.
C.
D.

5) Which choiceis not afactor

15
6

24
16

of 70?

A.

OCOw

8) Which choiceisafactor of

227

o0 ®»

11) Which choiceis afactor of

35
70
8
5

=

6

N N W
o

of 15?

A.
B.
C.
D.

Which choiceis not afactor

10
5
3
15

of 52?

A.

B.
C.
D

26
52
6

13

94?

oo0wp

20
2

10
18

3) Which choiceis not afactor

9) Which choiceisafactor of

12) Which choiceis afactor of

Answers

10.
11.

12.

24? 567 187
A. 19 A. 13 A. 2
B. 3 B. 17 B. 11
C. 7 C. 4 C. 13
D. 17 D. 18 D. 4
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il

Finding Factors

Name:

Answer Key

Deter mine which letter best answer s each question.

1) Which choiceis not afactor

of 4272

A.

B.
C.
D

4) 'Which choiceis not afactor

6
8
21
42

of 93?

A.

B.
C.
D

7) Which choiceisafactor of

367

Cow>»

10) Which choiceis afactor of

3

31
93
16

17
18
20
14

2) Which choiceis not afactor

of 48?7

A.
B.
C.
D.

5) Which choiceis not afactor

15
6

24
16

of 70?

A.

OCOw

8) Which choiceisafactor of

227

OO0 w»

11) Which choiceis afactor of

35
70
8
5

N N Wk
o (o))

of 15?

A.
B.
C.
D.

Which choiceis not afactor

10
5
3
15

of 52?

A.

B.
C.
D

26
52
6

13

94?

oo0wp

20
2

10
18

3) Which choiceis not afactor

9) Which choiceisafactor of

12) Which choiceis afactor of

Answers

. B

10.

11.

J>OUJ‘UJ ‘O ‘w ‘OOUZDZD

12.

24? 567? 187
A. 19 A. 13 A. 2
B. 3 B. 17 B. 11
C. 7 C. 4 C. 13
D. 17 D. 18 D. 4
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JL_

Finding Factors

Name:

Deter mine which letter best answer s each question.

1) Which choiceis not afactor

of 54?

A.

OO

4) 'Which choiceis not afactor

18
4

54
27

of 15?

A.

OO

7) Which choiceisafactor of

267

Cow>»

10) Which choiceis afactor of

15
3
12
5

26
8

12
14

2) Which choiceis not afactor

of 94?

A.

B.
C.
D.

5) Which choiceis not afactor

19
2

a7
94

of 50?

A.

B.
C.
D

8) Which choiceisafactor of

62?

oow® >

11) Which choiceis afactor of

9
50
5
10

13
31
10
12

of 867
A. 86
B. 17
C. 43
D. 2

Which choiceis not afactor

of 367
A. 18
B. 19
C. 36
D. 6

Which choiceis afactor of

58?

Cow>
~ oA
S

3) Which choiceis not afactor

12) Which choiceis afactor of

Answers

10.
11.

12.

81? 75? 98?
A. 5 A. 13 A. 20
B. 12 B. 12 B. 7
C. 3 C. 25 C. 4
D. 17 D. 14 D. 17
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il

Finding Factors

Name:

Answer Key

Deter mine which letter best answer s each question.

1) Which choiceis not afactor

of 54?

A.

OO

4) 'Which choiceis not afactor

18
4

54
27

of 15?

A.

OO

7) Which choiceisafactor of

267

Cow>»

10) Which choiceis afactor of

15
3
12
5

26
8

12
14

2) Which choiceis not afactor

of 94?

A.

B.
C.
D.

5) Which choiceis not afactor

19
2
a7

94

of 50?

A.

B.
C.
D

8) Which choiceisafactor of

62?

oow® >

11) Which choiceis afactor of

9
50
5
10

13
31
10
12

of 867
A. 86
B. 17
C. 43
D. 2

Which choiceis not afactor

of 367
A. 18
B. 19
C. 36
D. 6

Which choiceis afactor of

58?

Cow>
~ oA
S

3) Which choiceis not afactor

12) Which choiceis afactor of

Answers

. B

SN
> | (> O | (P

10.

11.

@ O |O | |®

12.

81? 757? 98?
A. 5 A. 13 A. 20
B. 12 B. 12 B. 7
C. 3 C. 25 C. 4
D. 17 D. 14 D. 17
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JL_

Finding Factors

Name:

Deter mine which letter best answer s each question. Answers
1) Which choiceisnot afactor 2) Which choiceisnot afactor 3) Which choiceis not afactor
of 77? of 55? of 287 1
A. 11 A. 11 A. 14
B. 77 B. 13 B. 4 2.
C. 5 C. 55 C. 15
D. 7 D. 5 D. 7 3.
4.
5.
4) Which choiceisnot afactor 5) Which choiceisnot afactor 6) Which choiceis not afactor
of 100? of 48? of 60? 6.
A. 14 A. 16 A. 10
B. 10 B. 48 B. 4 7.
C. 5 C. 15 C. 7
D. 2 D. 24 D. 6 8.
9.
10.
7) Which choiceisafactor of 8) Which choiceisafactor of 9) Which choiceisafactor of
147 35?7 51?7 11
A. 12 A. 2 A. 18
B. 16 B. 3 B. 2 12.
C. 14 C. 7 C. 17
D. 20 D. 19 D. 9
10) Which choiceisafactor of 11) Which choiceisafactor of 12) Which choiceisafactor of
187 64? 95?
A. 16 A 7 A. 4
B. 4 B. 18 B. 7
C. 11 C. 3 C. 5
D. 3 D. 32 D. 20
1-10 | 9283 75|67 [58[50] 4233|2517 |
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il

Finding Factors

Name:

Answer Key

Deter mine which letter best answer s each question. Answers
1) Which choiceisnot afactor 2) Which choiceisnot afactor 3) Which choiceis not afactor
of 777 of 557 of 287 1. C
A. 11 A. 11 A. 14
B. 77 B. 13 B. 4 2. B
C. 5 C. 55 C. 15
D. 7 D. 5 D. 7 3 C
4. A
5. C
4) Which choiceisnot afactor 5) Which choiceisnot afactor 6) Which choiceis not afactor
of 1007 of 487 of 607? 6. _C
A. 14 A. 16 A. 10
B. 10 B. 48 B. 4 7 C
C. 5 C. 15 C. 7
D. 2 D. 24 D. 6 g. C
9. C
10. D
7) Which choiceisafactor of 8) Which choiceisafactor of 9) Which choiceisafactor of
147 35? 51? 11 D
A. 12 A 2 A. 18
B. 16 B. 3 B. 2 12. C
C. 14 C. 7 C. 17
D. 20 D. 19 D. 9
10) Which choiceisafactor of 11) Which choiceisafactor of 12) Which choiceisafactor of
18? 64? 05?
A. 16 A 7 A. 4
B. 4 B. 18 B. 7
C. 11 C. 3 C. 5
D. 3 D. 32 D. 20
1-10 | 9283 75|67 [58[50] 4233|2517 |
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JL_

Finding Factors

Name:

Deter mine which letter best answer s each question.

1) Which choiceis not afactor

of 20?

A.

B.
C.
D

4) 'Which choiceis not afactor

16
4
10
2

of 78?

A.

B.
C.
D

7) Which choiceisafactor of

98?

Cow>»

10) Which choiceis afactor of

26
78
15
39

3
49
16
9

2) Which choiceis not afactor

of 34?

A. 34

B.
C.
D.

5) Which choiceis not afactor

2
13
17

of 76?

A.

B.
C.
D

8) Which choiceisafactor of

587?

o0 ®»

11) Which choiceis afactor of

17
38
76
19

9

17
29
16

of 44?

A.

Which choiceis not afactor

B.
C.
D.

22

2
8
44

of 48?

A.

B.
C.
D

8

18
48
12

517?

A.
B.
C.
D.

10
19
3
5

3) Which choiceis not afactor

9) Which choiceisafactor of

12) Which choiceis afactor of

Answers

10.
11.

12.

28? 947 6?
A. 16 A. 18 A. 4
B. 4 B. A4 B. 19
C. 20 C. 3 C. 20
D. 13 D. 5 D. 6
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il

Finding Factors

Name:

Answer Key

Deter mine which letter best answer s each question.

1) Which choiceis not afactor

of 20?

A.

B.
C.
D

4) 'Which choiceis not afactor

16
4
10
2

of 78?

A.

B.
C.
D

7) Which choiceisafactor of

98?

Cow>»

10) Which choiceis afactor of

26
78
15
39

3
49
16
9

2) Which choiceis not afactor

of 34?

A. 34

B.
C.
D.

5) Which choiceis not afactor

2
13
17

of 76?

A.

B.
C.
D

8) Which choiceisafactor of

587?

OO0 w»

11) Which choiceis afactor of

17
38
76
19

9

17
29
16

of 44?

A.

Which choiceis not afactor

B.
C.
D.

22

2
8
44

of 48?

A.

B.
C.
D

8

18
48
12

517?

A.
B.
C.
D.

10
19
3
5

3) Which choiceis not afactor

9) Which choiceisafactor of

12) Which choiceis afactor of

Answers

1A

10.

11.

UUJUJ‘O ‘O ‘w ‘DUIDOOO

12.

28? 94? 6?
A. 16 A. 18 A. 4
B. 4 B. A4 B. 19
C. 20 C. 3 C. 20
D. 13 D. 5 D. 6
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JL_

Finding Factors

Name:

Deter mine which letter best answer s each question. Answers
1) Which choiceisnot afactor 2) Which choiceisnot afactor 3) Which choiceisnot afactor
of 627? of 15?7 of 147 1
A. 20 A. 5 A. 8
B. 31 B. 15 B. 14 2.
C. 62 C. 16 C. 7
D. 2 D. 3 D. 2 3.
4.
5.
4) Which choiceisnot afactor 5) Which choiceisnot afactor Which choiceis not afactor
of 100? of 28? of 27? 6.
A. 25 A. 17 A. 5
B. 11 B. 28 B. 3 7.
C. 2 C. 14 C. 27
D. 10 D. 2 D. 9 8.
9.
10.
7) Which choiceisafactor of 8) Which choiceisafactor of Which choiceis afactor of
95? 98? 84? 11
A. 12 A. 9 A. 18
B. 11 B. 20 B. 16 12.
C. 95 C. 7 C. 12
D. 8 D. 5 D. 11
10) Which choiceisafactor of 11) Which choiceisafactor of 12) Which choiceisafactor of
72? 33? 167
A. 5 A. 3 A. 14
B. 6 B. 10 B. 4
C. 19 C. 9 C. 7
D. 17 D. 4 D. 19
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 111121 8] 0




il

Finding Factors

Name:

Answer Key

Deter mine which letter best answer s each question.

1) Which choiceis not afactor

of 62?

A.

OO

4) 'Which choiceis not afactor
of 100?

A.

B.
C.
D

7) Which choiceisafactor of

95?

Cow>»

20
31
62
2

25
11
2

10

12
11
95
8

2) Which choiceis not afactor

of 15?

A.

OCOw

5) Which choiceis not afactor

5
15
16
3

of 28?

A.

B.
C.
D

8) Which choiceisafactor of

98?

oo® >

17
28
14
2

9
20
7
5

of 147?
A. 8
B. 14
C. 7
D. 2

Which choiceis not afactor

of 27?
A. 5
3
27
9

00w

Which choiceis afactor of

847?

18
16
12
11

ocow >

3) Which choiceis not afactor

Answers
LA
2. C
3. A
s B
5. A
6. A
7 C
s C
o. C
0. B
1. A
1. B

10) Which choiceisafactor of 11) Which choiceisafactor of 12) Which choiceisafactor of
727 33? 16?
A. 5 A. 3 A. 14
B. 6 B. 10 B. 4
C. 19 C. 9 C. 7
D. 17 D. 4 D. 19
[ Math ] 1-10 [92]83[75] 675850 42]33]25] 17]
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JL_

Finding Factors

Name:

Deter mine which letter best answer s each question. Answers
1) Which choiceisnot afactor 2) Which choiceisnot afactor 3) Which choiceisnot afactor
of 24? of 217 of 487 1
A. 2 A. 21 A. 3
B. 17 B. 11 B. 8 2.
C. 8 C. 7 C. 24
D. 24 D. 3 D. 13 3.
4.
5.
4) Which choiceisnot afactor 5) Which choiceis not afactor Which choiceis not afactor
of 78? of 26? of 90? 6.
A. 4 A. 26 A. 9
B. 2 B. 2 B. 90 7.
C. 39 C. 18 C. 13
D. 13 D. 13 D. 6 8.
9.
10.
7) Which choiceisafactor of 8) Which choiceisafactor of Which choiceis afactor of
58?7 93? 447 11
A. 13 A. 10 A. 6
B. 15 B. 5 B. 22 12.
C. 29 C. 16 C. 10
D. 18 D. 3 D. 19
10) Which choiceisafactor of 11) Which choiceisafactor of 12) Which choiceisafactor of
82?7 81? 92?
A. 9 A. 15 A. 20
B. 16 B. 9 B. 5
C. 11 C. 11 C. 23
D. 82 D. 14 D. 3
1-10 | 9283 75|67 [58[50] 4233|2517 |
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il

Finding Factors

Name:

Answer Key

Deter mine which letter best answer s each question. Answers
1) Which choiceisnot afactor 2) Which choiceisnot afactor 3) Which choiceisnot afactor
of 247 of 217 of 487 1. B
A. 2 A. 21 A. 3
B. 17 B. 11 B. 8 2. B
C. 8 C. 7 C. 24
D. 24 D. 3 D. 13 3 D
4. A
5. C
4) Which choiceisnot afactor 5) Which choiceis not afactor Which choiceis not afactor
of 787 of 267 of 907 6. _C
A. 4 A. 26 A. 9
B. 2 B. 2 B. 90 7z C
C. 39 C. 18 C. 13
D. 13 D. 13 D. 6 s. D
9. B
10. D
7) Which choiceisafactor of 8) Which choiceisafactor of Which choiceis afactor of
58? 93? 447 11 B
A. 13 A. 10 A. 6
B. 15 B. 5 B. 22 12. C
C. 29 C. 16 C. 10
D. 18 D. 3 D. 19
10) Which choiceisafactor of 11) Which choiceisafactor of Which choiceis afactor of
82? 8172 92?
A. 9 A. 15 A. 20
B. 16 B. 9 B. 5
C. 11 C. 11 C. 23
D. 82 D. 14 D. 3
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 111121 8] 0




JL_

Finding Factors

Name:

Deter mine which letter best answer s each question.

1) Which choiceis not afactor

of 35?

A.

OO

4) 'Which choiceis not afactor

14
5
7
35

of 40?

A.

B.
C.
D

7) Which choiceisafactor of

28?

o0 w»

10) Which choiceis afactor of

40
15
20
8

18
2
5
6

2) Which choiceis not afactor

of 607
A. 10
B. 6
C. 11
D. 5

Which choiceis not afactor
of 847

A. 28
B. 3
C. 5
D. 4

Which choice is afactor of
74?

37

13

11

12

oow >

Which choiceis afactor of

3) Which choiceis not afactor

6)

9

12)

of 75?
A. 15
B. 5
C. 3
D. 18

Which choiceis not afactor

of 62?
A. 62
B. 2

C. 31
D. 19

Which choiceis afactor of

67

14
2
11
4

oo® >

Which choiceis afactor of

Answers

10.
11.

12.

807 557 327?
A. 14 A. 4 A. 7
B. 18 B. 14 B. 2
C. 7 C. 17 C. 13
D. 8 D. 11 D. 3
1-10 [92[83] 75]67[58]50] 42[ 33| 25] 17
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il

Finding Factors

Name:

Answer Key

Deter mine which letter best answer s each question.

1) Which choiceis not afactor

of 35?

A.

OO

4) 'Which choiceis not afactor

14
5
7
35

of 40?

A.

B.
C.
D

7) Which choiceisafactor of

28?

o0 w»

10) Which choiceis afactor of

40
15
20
8

18
2
5
6

2) Which choiceis not afactor

of 607
A. 10
B. 6
C. 11
D. 5

Which choiceis not afactor
of 847

A. 28
B. 3
C. 5
D. 4

Which choice is afactor of
74?

37

13

11

12

oow >

Which choiceis afactor of

3) Which choiceis not afactor

6)

9

12)

of 75?
A. 15
B. 5
C. 3
D. 18

Which choiceis not afactor

of 62?
A. 62
B. 2

C. 31
D. 19

Which choiceis afactor of

67

14
2
11
4

oo® >

Which choiceis afactor of

Answers
LA
2. C
s D
s B
5 C
6. D
7 B
s A
o. B
0. D
1D
1. B

807 557 327?
A. 14 A. 4 A. 7
B. 18 B. 14 B. 2
C. 7 C. 17 C. 13
D. 8 D. 11 D. 3
1-10 [92[83] 75]67[58]50] 42[ 33| 25] 17
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JL_

Finding Factors

Name:

Deter mine which letter best answer s each question.

1) Which choiceis not afactor

of 64?

A.

OO

4) 'Which choiceis not afactor

16
3

64
32

of 98?7

A.

OO

7) Which choiceisafactor of

767

Cow>»

10) Which choiceis afactor of

14
5
2
49

2

12
16
14

2) Which choiceis not afactor

of 63?

A.
B.
C.
D.

5) Which choiceis not afactor

63
9
3
10

of 90?

A.

B.
C.
D

5
11
3
15

8) Which choiceisafactor of
1007?

A.
B.
C.
D.

18
17
12
2

11) Which choiceis afactor of

of 50?

A.
B.
C.
D.

Which choiceis not afactor

10
25
2

14

of 82?

A.

B.
C.
D

91?
A.
B.

C.
D.

41
2

82
10

5

13
16
14

3) Which choiceis not afactor

9) Which choiceisafactor of

12) Which choiceis afactor of

Answers

10.
11.

12.

567 307? 627
A. 16 A. 20 A. 15
B. 7 B. 16 B. 31
C. 13 C. 6 C. 8
D. 18 D. 17 D. 14
1-10 [92[83] 75]67[58]50] 42[ 33| 25] 17
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Finding Factors

Name:

Answer Key

Deter mine which letter best answer s each question.

1) Which choiceis not afactor

of 64?

2) Which choiceis not afactor

of 63?

A.

OO

4) Which choiceisnot afactor 5)

16
3

64
32

of 98?7

A.

OO

7) Which choiceisafactor of 8)

767

Cow>»

10) Which choiceisafactor of 11)

14
5
2
49

2

12
16
14

A.

OOw

63
9
3
10

of 90?

A.

B.
C.
D

5
11
3
15

100?

A.

B.
C.
D

18
17
12
2

Which choiceis not afactor

Which choiceis afactor of

Which choiceis afactor of

of 50?

A.

B.
C.
D

Which choiceis not afactor

10
25
2

14

of 82?

A.

B.
C.
D

Which choiceis afactor of

91?
A.

B.
C.
D

Which choiceis afactor of

41
2

82
10

5

13
16
14

3) Which choiceis not afactor

Answers

10.

11.

12.

. B

@ O | ([ (O |>» |[O | | (O |O

567 307? 627
A. 16 A. 20 A. 15
B. 7 B. 16 B. 31
C. 13 C. 6 C. 8
D. 18 D. 17 D. 14
1-10 [92[83] 75]67[58]50] 42[ 33| 25] 17
[ Math ] www.CommonCoreSheets.com 10 111121 8] 0 = BT
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